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uint3Z_t SPIReadDWord (uintlé_t Address)
B

UINT32_ VAL dwResult;

UINT1lé_ VAL whddr;

whddr.Val = Address;
//hssert C5 line
CSLOW () :

//Write Command
SPIWNriteByte (CMD_FAST READ):
//Write Address
SPIWriteByte (wAddr.byte.HB);
SPIWriteByte (wAddr.byte.LB);
//Write Lendth
SPIWriteByte (4);
————————
SPIWriteByte (CMD_FAST READ DUMMY);//CMD FAST READ DUMMY
J// S5PIReadByte():
//Read Bytes
dwResult.byte.LB = SPIReadBvte()://

I printf("\r\n SPIRsadByte() is 0x%x",dwResult.byte.LB);
dwResult.byte.HB = SPIReadByte():

rf printf ("\r\n SPIReadByte() is 0x%x",dwResult.byte.HB);
dwResult.byte.UB = SPIReadByte():

I printf("\r\n SPIRsadByte() is 0x%x",dwResult.byte.UB);
dwResult.byte.MB = SPIReadByte():

I printf("\r\n SPIRsadByte() is 0x%x",dwResult.byte.MB);
//De-Assert C5 line
CSHIGH() ;

return dwResult.Val;
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uint32_t SPIReadDWord (uintlé_t Address)
14

UINT32 VRL dwResult;

UINT1l6é WAL whddr;

whddr.Val = Lddress;
//Bssert C5 line
C5LOW()

f/Write Command
SPIWriteByte (CHD FAST READ);
f/Write Address
SPIWriteByte (wAddr.byte.HB) ;
SPIWriteByte (wAddr .byte.LB)
f/Write Length
rr SPIWriteByvte (4):
Dummy Byte
SPIWriteByte (CMD_FAST READ DUMMY);//CMD FAST READ DUMMY
//  SPIRsadByte():
//Bead Bytes
dwResult.byte.LB = S5PIReadByte()://

fr printf("\r\n SPIRsadByte () is Ox%x",dwRssult.bvte.LB):
dwResult.byte.HB = S5PIReadByte();

i printf("\r\n SPIReadByte() is 0x%x",dwResultc.byte.HE):
dwResult.byte.UB = 5PIReadBytel():

fr printf ("\r\n SPIReadByte() is 0x%x",dwResult.byte.UB):
dwResult.byte.MB = SPIRcadBytel():

I’ printf({"\r\n SPIReadByte () is O0x%x",dwResult.byvte.MB);
//De-Lssert C5 line
CEHIGH() »

return dwResult.Val:;
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